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Question No: 1 
When creating a restore job of a virtual machine which method is selected by default? 
A. Hypervisor 
B. Test 
C. Production 
D. Clone 
Answer: C 
 
Question No: 2 
In which storage is the IBM Spectrum Protect Plus V10.1.5 catalog protected? 
A. Tape 
B. S3 
C. Archive 
D. vSnap 
Answer: A 
 
Question No: 3 
What is a reason for this error message? 
A. the resource did not have login permission 
B. the inventory did not run 
C. the user did not have appropriate permissions 
D. the database was offline 
Answer: C 
 
Question No: 4 
How is IBM Spectrum Protect Plus V10.1.1 updated to V10.1.5? 
A. upgrade to IBM Spectrum Protect Plus V10.1.2, then to V10.1.5 
B. upgrade to IBM Spectrum Protect Plus V10.1.3, then to V10.1.5 
C. uninstall IBM Spectrum Protect Plus V10.1.1. then install V10.1.5 
D. upgrade directly to IBM Spectrum Protect Plus V10.1.5 
Answer: C 
 
Question No: 5 
What is a valid user name in the IBM Spectrum Protect Plus GUI? 
A. appowner 
B. root 
C. test 
D. admin 
Answer: B 
 
Question No: 6 



What must be verified prior to allowing an automatic update of a VADP proxy 
A. the catalog backups are not currently running 
B. the IBM Spectrum Protect Plus server is currently in a disabled state 
C. all backup jobs are suspended 
D. there are no active VMware backup jobs using the proxy 
Answer: B 
 
Question No: 7 
IBM Spectrum Protect Plus V10.1.5 has been installed using the trial package downloaded from the web. 
Which IBM Spectrum Protect Plus V10.1.5 tool is used to apply the license? 
A. IBM Spectrum Protect Plus Appliance Command Line 
B. IBM Spectrum Protect Plus Administrative Console 
C. IBM Passport Advantage License Tool 
D. IBM Spectrum Protect Plus Key Installer 
Answer: D 
 
Question No: 8 
What is required to discover Db2 databases in IBM Spectrum Protect Plus V10.1.5? 
A. sudo privileges with no password for the IBM Spectrum Protect Plus user 
B. Db2 configuration must be running partitioned databases 
C. sudo privileges with no password for the Db2 instance owner 
D. Db2 instance owner must be in the Windows Administrator group 
Answer: C 
 
Question No: 9 
Which two types of servers can be added to create IBM Spectrum Protect Plus V10.1.5 user accounts? 
A. DNS 
B. SMPT 
C. Kerberos 
D. OpenLDAP server 
E. Microsoft Active Directory 
Answer: B,D 
 
Question No: 10 
Which two operating systems are supported for File Indexing? 
A. Ubuntu 18.0+ 
B. CentOS 6.0 
C. Windows Server 2016 
D. AIX 7.0+ 
E. Red Hat Enterprise Linux 7.0+ 
Answer: C,E 
 
Question No: 11 
When registering a hypervisor, what happens if the number of concurrent VM snapshots taken during backup 



is set to a high number? 
A. It could negatively affect VMware overall compression. 
B. It could negatively affect VMware overall deduplication. 
C. It could negatively affect VMware overall encryption. 
D. It could negatively affect VMware overall performance. 
Answer: D 
 
Question No: 12 
Which two keys must be added to the System Configuration tab to use cloud resources as copy destinations? 
A. Public Key 
B. Private Key 
C. User Key 
D. Access Key 
E. Secret Key 
Answer: D,E 
 
Question No: 13 
A VADP proxy can be optimized by collocating it on the same machine with which other component? 
A. IBM Spectrum Protect Plus Hypervisor 
B. IBM Spectrum Protect server 
C. vSnap server 
D. VMware vSphere server 
Answer: A 
 
Question No: 14 
What is a step prior to upgrading a vSnap server? 
A. ensure the IBM Spectrum Protect Plus environment is backed up 
B. ensure all data has been migrated to the replication vSnap server 
C. update the VADP proxy first 
D. ensure all VADP proxies are suspended 
Answer: C 
 
Question No: 15 
When working with options on the VADP proxy, what does the Softcap task limit control? 
A. the amount of storage capacity required on the proxy for running backup jobs 
B. the maximum backup window for completing a VMWare backup for a single proxy 
C. the number of concurrent VMs a proxy can process 
D. the minimum amount of RAM allocated for running tasks on the proxy 
Answer: B 
 
Question No: 16 
What is an input to the IBM Spectrum Protect Plus Sizer spreadsheet? 
A. number of vSnap Storage Servers in the environment 
B. number of VADP Proxy Servers in the environment 



C. amount of data being protected 
D. maximum Number of Systems per SLA 
Answer: D 
 
Question No: 17 
How is a vSnap server deployed by default with the IBM Spectrum Protect Plus V10.1.5 appliance? 
A. one vSnap server with the name localhost is automatically installed 
B. automatically if the deploy_vsnap_server option is set to yes in the config file 
C. one vSnap server with the name spphost is automatically installed 
D. it must be installed separately 
Answer: B 
 
Question No: 18 
When protecting an Oracle application, which two restore methods are supported? 
A. Production mode 
B. Simulation mode 
C. Multi-access mode 
D. Read-only mode 
E. Instant access mode 
Answer: A,C 
 
Question No: 19 
Which information is provided by the IBM Spectrum Protect vSnap Sizer? 
A. number of vSnap servers and VDAP proxies to deploy 
B. number of vSnap servers to deploy and best method to copy data 
C. number of vSnap copy servers to deploy 
D. number of Spectrum Protect Servers to deploy 
Answer: D 
 
Question No: 20 
What is the purpose of collecting customer Recovery Point Objectives (RPO's) when sizing IBM Spectrum 
Protect Plus V10.1.5? 
A. It determines the replication settings. 
B. It determines the SLA settings. 
C. It determines the frequency of the restores. 
D. It determines the annual growth. 
Answer: B 
 
Question No: 21 
Which option will create a customized report to show the VM datastores whose utilization has reached 90%? 
A. Hypervisor type 
B. Datastore type 
C. Hypervisor 
D. Detail View Filter 




